
Multiply by multiples of ten in each of the exercises below. 

3 × 1 =               (three ones) 

3 × 10 =               (three tens)

3 × 100 =               (three hundreds)

3 × 1,000 =               (three thousands)

 

EXAMPLE:

5 × 1 =

5 × 10 =

5 × 100 =

5 × 1,000 =

6 × 1 =

6 × 10 =

6 × 100 =

6 × 1,000 =

8 × 1 =

8 × 10 =

8 × 100 =

8 × 1,000 =

20 × 1 =

20 × 10 =

20 × 100 =

20 × 1,000 =

30 × 1 =

30 × 10 =

30 × 100 =

30 × 1,000 =

70 × 1 =

70 × 10 =

70 × 100 =

70 × 1,000 = 

45 × 1 = 

45 × 10 =

45 × 100 =

45 × 1,000 =

56 × 1 =

56 × 10 =

56 × 100 =

56 × 1,000 =

29 × 1 =

29 × 10 =

29 × 100 =

29 × 1,000 =

9 × 4 =

9 × 40 =

9 × 400 =

9 × 4,000 =

90 × 4 =

90 × 40 =

90 × 400 =

90 × 4,000 =

900 × 4 =

900 × 40 =

900 × 400 =

900 × 4,000 =

Name Date

3

30

300

3,000

MULTIPLY BY MULTIPLES OF 10
Answer Key

5

50

500

5,000

20

200

2,000

20,000

45

450

4,500

45,000

36

360

3,600

36,000

360

3,600

36,000

360,000

3,600

36,000

360,000

3,600,000

56

560

5,600

56,000

29

290

2,900

29,000

30

300

3,000

30,000

70

700

7,000

70,000

6

60

600

6,000

8

80

800

8,000
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